[ Efficiency vs vertpos |
0.8

efficiency vs vert r
o o
[0)) ~l
i
—— - :
—— :

O L P Es SRR
e OSSR B B A
I S R o s

IR SRS . o R

F =y
-
o R -
E bl O

Ratio

o e

ﬁl
-

™

T A
-
2-

T
-
-

i

T

t
o
i
iy

i
T

.

.

0.95L : :
1072 101 1 10 0?
TP vertr (cr%)

||n{vcuu| 1660evt

R Th
nggé %%igﬁ 1RO TLIERS 1000evt

—ehoC

11111

Efficiend —— %g

0

o

©
3

efficiency vs vert z
o
[e)]

0.4

0.3

IS
[9)]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
e

0.2

fa i NS RTINS BTSN BT A A AT AT AT TR

Ratio

0935 20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.8
5% S5 N
0.6
o g

R

efficiency vs Sim. PV
IIIIIIIII
;..
o,
é"i
1
[ ]
]
R
£1

E S e e

0.2

0.1

Ratio

i
T

095515 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


